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(4) Please derive a mole balance equation on species j and make some
assumptions to obtain design equations for (a) Batch Reactor (b) CSTR
and (c) Plug-Flow Reactor. (15%)

(5) Please write down the stoichiometric table for a continuous-flow
reactor. The reaction can be expressed as
aA(g) *+ bB(g)

— ¢Cg) + dD(g)

Please take A as the basis and express the concentration of A in
conversion. (15%)

(6) A reaction takes place in a batch reactor.

The reactor volume is 20
liter. The rate expression can be expressed as ’

-ra=kCp (k=0.02 min-1)

Please calculate the time t necessary to achieve a conversion of 0.8 (XA
= 0.8). (20%)




